S5 3A1LHBE (o Ad : ARAFSEN)

K5HT4 AR | B[S (A) | I | A (B) | B [ BF(A+B) | IR
JiSIEin 2,463 -2 2, 798 —4 2, 860 1 5, 658 -3
JHPTET—TH 1,035 -3 940 —4 858 -5 1, 798 -9
JHFHT — T H 587 -6 564 -3 576 1 1, 140 -2
JHIPTHT =T H 676 0 737 -3 682 0 1,419 -3
JHPTETIU T H 497 -2 520 -1 537 -2 1,057 -3
PRI T H 323 0 352 0 320 0 672 0
JHPTHT 7S T H 283 -1 353 1 370 -1 723 0
oY 205 2 202 2 214 0 416 2

=8 377 1 448 2 466 3 914 5

T H 1,903 -1 1,995 -1 2,061 -1 4, 056 )
SEins 334 0 335 -1 333 2 668 1

R H 920 -2 976 2 967 —4 1,943 )
HHT— T B 282 0 359 1 395 0 754 1
T T H 351 -6 445 -6 439 -5 884 -11
HHT =T H 508 1 691 -2 671 -5 1, 362 -7
FHTIU T H 280 8 397 3 372 4 769 7
T H 236 0 266 -3 253 -1 519 —4

W] = 303 2 366 1 337 2 703 3

— VK 437 1 458 2 461 0 919 2

— YV KHT—TH 0 0 0 0 0 0 0 0
VAR TH 31 -2 44 -1 43 0 87 -1
L 109 1 129 0 124 -1 253 -1

— Y ARHH 5 0 5 0 6 0 11 0
KH» B 679 2 860 2 870 5 1, 730 7
[FEN 4,517 3 4, 883 -8 5, 092 3 9,975 -5

IS 4,761 —7 4,617 -8 4,674 -10 9, 291 -18
W 1, 397 2 1,501 7 1,568 4 3, 069 11
=+ 6 0 10 0 8 0 18 0
g5+R—TH 925 8 802 4 967 0 1, 769 4
E+tH_TH 1,122 -1 1,105 0 1, 169 —4 2, 274 —4
E5+HR=TH 877 1 794 -1 863 -2 1, 657 -3
LRI T H 724 7 722 9 729 5 1,451 14
BHRFATH 716 2 779 1 686 -3 1, 465 )
RN TH 0 0 0 0 0 0 0 0
8 1,958 3 1,934 10 1, 865 -13 3, 799 -3

s E—T1 H 300 1 311 1 300 -3 611 )
o BE—TH 244 -1 254 0 249 -3 503 -3
oy b ="TH 431 -3 441 —4 449 -3 890 —7
o DU B 794 -3 722 -2 846 -1 1, 568 -3
o T H 456 -3 492 -3 521 -3 1,013 -6
I —T1H 258 0 303 0 335 0 638 0
FElT T H 577 2 578 2 652 1 1,230 3
T =T H 186 1 187 0 232 3 419 3
s 33, 073 5 34, 675 -5 35, 420 -36 70, 095 -41




